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2)D4x107—-1=427 @4n-—1

@ (4x45—-1)—(4x25—-1) =80
(3)FE & 3 Z3Z/VF A Kt 1000

3x3x3x3%x3x3=729 729x3=2187 7+1=8({f)
(4) D36x2=72(88) @(97—-1)+2=48 48+ 1 = 49(f])
(5)® (1 4 1000) x 1000 =+ 2 = 500500

@ (117 +18) x (117 =18+ 1) + 2 = 6750

142 — 22
+ 2 =12028

® (142 + 27) X
p.88YT BI#RE —

(1)118 +5=123.3 104+5=20--4 -~/ MASEFEHE /JWAEIUHE

(2)M15x4—-3=57 (@39+4=9..3> /855
(B)6fH—fEE 25+6=4--1 525 ERKRBILE

p. 90X B[R E =

(MDO1E=>6.T 2{H=>6%x2-2 3f=>6%x3—-2x%x2

# 20 {f = 6 X 20 — 2 X 19 = 82(234)
@6n—2(n—1)=6n—-2n+2=4n+2

@ (4n+ 2)m
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QQ)D1{H =8 2{f=>8x2-4 nfi=>8n—4(n—-1)
~ Sl = 8x5—4x4=24(2%)
@8n—4(n—1) = 4n+ 4(A%})

E—E 41 FZ—EEHF +3K 4+3(100-1) =301 = (1)
(4)4+3(n—1)=100 .~ n=33
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BJT/\ EEERE

p. 9517 RI#RE —

(1) 151 —1 =150 150 x 45 = 6750(AX)

(2)119-103 =16 16 x 45 = 720(/AR)
(3)735& 1500 AR = 3 25 AR

25x50=1250 37-12=25 1250+25=50(AR)
(4)36+3=12 12-1=11 2 x 11 =9.9(AR)

100
(5) (25+ 1) x (28 + 1) = 754 (1)
(6)42+2=21 (21-1)x 00 _ 12(AR)
' 100 =

(7) 140 + (21— 1) = 7(AR)
(8)25—1=124 300+ 24=125(2%)
(9)26—1 =25 600+ 25 = 24(22%3)
(10) £ : (48 +4—1) x 0.6 = 6.6(2AK)

o (4-1)x06=18(1AR)
p. 97T RIRE —

(1) —&=>8 “#&=>2x8-(2-1) =Z=%#=>3x8-(3-1)

JNiE=8x8—-(8-1) =57 (HER-FNIGNE-HES
57 — 1 = 56(F)

15
> X 15 = 120(1R)
(3)50x4—4=196 60x3—3=177 196—177 =19

14
(2)1+2+43+-+15=
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1+ 21
(4)1+2+3++21= x 21 = 231(f#)

2
(5) 4% (30 —4) x 4 = 416(f#)
(6)220+4=55 55+5=11 1145 = 16(f#)
p. 991 B & =
(1) 10x10 =100 100-82=8 8+ (10—8) =4

~ 10 TTH 6 5k ~ 8 T H 4 iR
(2)30 x 10 = 300 300 —280 =20 20+ (30—20)=2

~ 200 2% - 30 ST 8

(3)1500 x 20 = 30000 30000 — 24000 = 6000
6000 <+ (1500 — 1000) = 12

o FEZES AT TEX AT
(4)25 x 30 = 750 750 — 550 = 200 200 + (25 — 15) = 20
~ 7)1 10 {4 5 B+ 20 &

1
(5)100 x 3 =300 300—100 =200 200+ (3 —§) =75

n kA 25 A~ N TS A
p. 10117 B§%Z 70

(1)33-15=18 18+2=9 9+5=14(§j\§§)

(2) 75427 =102 102+2=051 75—-51=24 24+4=6(4})

1+ 89
2

(4)30—3=2727+3=9 90+ 20 =110(3%)

88
X 45 = 2025 X 44 = 1980 2025 — 1980 = 45({#)

(3)

(5) 2750 + 100 = 27.5 27 + 1 = 28(f&)
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(6) 190 — 22 =168 168+ 6 =28 28+2+ 1= 15(/\H)

(NDO5E @78 09 @I xEH+1=5x8+1=41(K)
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B/ FEERLIME
p. 104 A4RE —

()7-7-2;6-6-4;5-5-6 ~3%

2)MC @ACD @GABCDE @&WA (®BCE ®B

Oz ©@WIT OBFsy
(4)3+7>x x<10 7—-3<x x>4

CREE-AR 5 R
(GYRf% K% 2A$BCiE «B ¥fACE £C ¥AB%

~ BC > AC > AB
(6)D (7)D (8)D (9)C

(10)D; FBH ~ Z - W~ TEEMHZE - TSR/

p. 108XIE{RZE —
(1) 180 — 50 = 130 130 + 2 = 65

(2) 180 x 2 =360 180— 60 = 120 360 — 120 = 240 &
(3) # A ~ E S#fsk 180 — 115 =65 65+ 30+ 25 =120

n2C=180-120=60 &
(4) £ACB = 180 — 90 — 45 = 45
£DBC=180—-63 —-90 = 27
N 21 =180—-45—-27 =108°
(5) 21 =90+ 60 =150° «£2=60°
p. 11T R E =

(1) B
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(2) BC
3)
AT A,
o o= Eﬁw ERN2 gy
¥ g

SERE |V v v
R 24
wEREEE | 2 e
1t
(4) D
(5)
Y
———
(6)
L
M

(DD @B+8)x11=66 @25x6=150

B DB+3)x2=16 @D4x6+2=12

HERERNS - EoNE




B BB R RAT 2 PP SR
83+ ERMER

p. 11717 R#RE —
(1) 18 = 100 FHAR 5% 64 = 2240(FHAR) = 22.4(4AHK)

(2) 1 /\E = 10000 ZE 540K 700 x 400 = 280000(m?) = 28(/\tH)
(3)®0.25 (@7.5;0.075; 75000 (31000 ; 100000
(4)12x8—12%x 5+ 2 = 66(F/HAR)
(5)D 6 x 9+ 2 = 27(FHA5)
@24x14-24x8+2—-14x16+2=128(FH1%)
(6) 6 x (10 +14) ~ 2+ 8 x (10 + 14) + 2 = 168(FTHAR)
(MEFBHFZA THEMSEAER > BT R
4x8=+2=16(FHL5%)
(8) A ABCHIfE = 2 X 6 + 2 = 6 S FEfy
A ADC THfE = 5 X 4 + 2 = 10 S BT
ABCD [Eif& =A ABC [if& +A ADC [fif% = 6 + 10 = 16 ZJ7Eifi;
(9)JR S = VU8 CDEF—ACDH=5x72—-5X% (7.2 —3) + 2
= 25.5 T B
(10) ~ WEMAAER - IREEYTEE = 5 — = AR RE RN EE
~[(12 —4) +12] x 3 + 2 = 30(FJFEEfir)
p. 12117 BI#RE —

(1) 18+ 2 =20 (20 + 20) x 3.14 = 125.6(A )
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(2) D16 x 16 — 16 X 16 X 3.14 + 4 = 55.04(FH147)
@3 x3%x3.14+4x4=2826(FJ25)

@20 % 10 — 10 X 10 x 3.14 + 4 x 2 = 43(ZF/HA5)

(3) M 20 x 20 — 20 X 20 x 3.14 + 4 = 86(ZFF /51247)
@20x20—20x20x3.14+4 =86 86x2=172(FFA%})
@ 6X 6—2x2x3.14+4x4=2344(FFHLN5)

(4)D 10 x 10 — 10 X 10 x 3.14 + 4 = 21.5 21.5x 2 = 172(FFHL45)
@8x8x3.14+4—4x4x3.14+2=2512(FH15)
@®6x6x314+4—6%X6+2=1026

10.26 x 4 = 41.04(THL5Y)

@30 x 210 — 10 x 10 x 3.14 = 286(FF/A5Y)
(5)2-18=0.2
2X2%X314+4%x34+02x%x02%x314+4= 9_14514@375/1}}:\:)

(6D :8+8+4+4=24 24+2=12
12X 12 X 3.14 — 8 X 8 x 3.14 = 200.96(F H/A53)
Bl 1 12Xx2x%x314+8x%x2x314+4%x2x3.14
= 150.72(2A%))
@EME: (4+4) X (4+4) +4x4x3.14 =11424(FHL5)

FE 14X 2X2+4x2x3.14 = 41.12(2A%))
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@fE:8x8x3.14+4—(8+2)x(8+2)%x3.14+2
= 25.12(FH2A5Y)
PR :8+16x3.14+4+8x3.14 + 2 = 33.12(2A%))
(7 1 8x8x3.14+2—4x4x3.14+ 2 x 2 =5024(FH2A9)
AR 16 x3.14 +2 +8x 3.14 + 2 x 2 = 50.24(22%))
216
(8)FE : 10 + 10 + (10 + 10) x 3.14 X 360 = 57.68(/2%3)

216
ERE 0 10 X 10 x 3.14 X 360" 188.4(F52047)
9) KEIERE 8 AR ~ /NEERR 4 AR
(8X3.14 + 4+ 4 x3.14+ 2) x 2 = 25.12(AR)

(10) 8 x 10 = 80(F~ 5 Efir)
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p. 12537 B 28 —

(L®2n;3n:;n+2 @n+1;2n;n+1

(2)
Ehl W EEEE | E—ETEE
[ 2 I TE I FE AR AR Z% | WaRS% | HE | & | |
1l
=F8 =k 3 il 3 1 4 6 | 4
Pt i ibiZ 3 { 3 {& 8 12 | 6
T =AE 5 i 3 & 6 10 | 6
N KEhHE 3 11 3 {4 12 | 18 | 8

@OZTRE @ZTRE ©@EFF - ZAT « KRIT
@) ®
p. 12917 BI#RE —

(1) (30 x 24 x 16) + (4 x 4 x 4) = 180({#)

(2) BEH% 1 3 x 3 x3.14x 5 = 143.3( T HAS)

MR 0 3x3x3.14x 24 (6% 3.14) x 5 = 150.72(FHL57)
(3) (50 x 50 x 3.14 — 40 x 40 x 3.14) x 200 = 565200(37 /A R)
(4)24+6=4 4=2x2 2x2x2=8(7HA%)
(5)15—5=10 4x5+2x 10 = 100(17HA%Y)
(6)1x1x3.14+2x10 = 1577 HAR)

120 120

(7)10 % 10 X 3.14 X 77 — (10 = 3) X (10 = 3) X 3.14 X 5 = 53.38

360
53.38 x 1 = 53.38(T.HA%))
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(8)30 +2=1515—5 = 10
15x 15 x 3.14 — 10 x 10 x 3.14 = 392.5
392.5 x 40 = 15700(T7/7/347)

(DIE = B x3.14 -~ EHEE 1209 = PR 6 oy
1
6% 6 x 3.14 x 10 X = 376.8(3T H/447)
(10) D EF:EE @4 x4x3.14x 5= 251.2(FL /%)

p. 134T BI{RE =

(1)@ 2004 ; 2004000 (2 387 ; 38700 ; 38700 (3 2580 ; 2.58 ; 0.00258

(2)@) 4020 ; 4020000 (2 23 ; 2300 ; 2300 (3@ 1500 ; 1500 (@ 600 ; 0.6

(3)0.7 X 0.6 X 254+ 0.5 X 0.6 X 25 = 18 30x 25x 1 — 18 = 732(1\5F)

(4)(100 — 5% 2) x (60 — 5% 2) x (50 —5x2) =180000
(5)(80+5x%x2)x(70+5%x2)x (60+5x2)—80x70x60

= 168000375 A%Y)
(6)(40 — 10) x (30 — 10) x 5 = 3000(1ZH/43)
(HH:Z=1x1x1:2x2x1=1:4
(8) —HH
(9) 200 x 100 x 30 + 1000 X 1000 = 600000

(10) 20 X 15 X (10 — 8) + 150 = 750
(11) (82 —-01%x2)x (7.2—=0.1x2) x 2 = 112

(12) 10 X 10 X 3.14 x 1 + 2 = 157(F72343)

(13) 10 x 10 x 3.14 = 314 6000 + 314 =19 50— 19 = 31(2A%})
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(14) 10 x 10 x 3.14 = 314 3140 + 314 = 10(22%))

(15) 16 x 16 x 4 = 384 24 x 4 + 2 = 48 384 + 48 = 8(\%})
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BT+ fRETAIHER
p. 14017 B{RZE —
1O

RO -F-F-F 18F Q@F - - 14E Q/NK 4%
1

5=3:15000x3= 15000(\)

3L
)3
2 1
(4)900 x 2 =600 600 —350250 900 X == 150
250 + 150 = 400( A)
p. 14417 BHRE —

(1) BB B =555k L8 P =14 5%

(2) 6 5%
(3) 0z - 14 5% KRB 12 5%

(4) 45 N RE:4 A
9+5+4+5+6+8+5+4+8

(5)a= -
b=5c¢c=5 ~a—-b+c=6-5+5=6
(6)a=(1+5+7+9+9+13+14)—:—7=8:27— b=9
.'-b—a=9—8—2—=E
7 7

(Nx=G+5+5+5+6+7+7+10+10+10)+10=7
y=65 z=5 +x+y+z=7+65+5=185

(8)3x1+4%x2+5x3+6x3+15x4+45%x2+62X%X1=256
a=256+(1+2+3+3+4+2+1) =16 b=6 c=15

~a>c>h
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(9)® 9000 x 5 + 5000 x 11 + 2000 x 16 = 132000
132000 + (5 + 11 + 16) = 4125(7T)

(2 4500 — 4125 = 375 375x(5+ 11+ 16) = 12000

- Mk 12000 7T
(10)150 — 48 + 1 = 103 (48 + 150) x 103 + 2 = 10197
10197 + 103 =99 =~ #4F1 : 10197 7589 : 99 rh{7E : 99

|p. 14711 Bl ZE =
1 1 3 9
(U@“l—o ®E @g @Tﬁ ® 0

1 1 4 1 5 1 .1

(2)5+15=3 (3)§X4—§ (4) EXS_E (5)—6-><3_E
1 1

(6) BFE Lot~ B L x2=3

1 1 1 1 1 1 1 1 1 1
NOzxg=13 @zx5=7 @zxgx2=g @3x0=0
) FBEF « BEL - BLH - LB « LA~ I - LFIL ~ BAh

.3.8_3

3+8=3
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p. 14977 B[I#k 78—

(1) ¥5:16 (2) —3(3) +30; —10 (4) +5; —3 (5) —35

6 12(7)—7(8)A : 22 B: 11 C'3 D'27
(6) —12(7)—7(8)A: — 3 - -1 ‘T ‘275

p. 15177 BlIfk7E —

(1) D(=3)@10B(-H @70 (-H®(-6)D(—11): (~5)
®(5O®9

(2) ON@7®7@(-19®9I® (—48) @7 ®(—13)
© (—87) ©21 G (—~4) @ (—1010)

p. 15377 Bk —

D(=5@13@ (-13)D5B (-7 ® (—10) @ (—a) ®(—11)
© 1@ (—64)

p. 15577 Bl
(LD

-2 .5 ~1—%*1 -0.125 1.75
A
-3 -2-1 0 1 2
2
@1.75 > —0.125 > -1 > —1-3- > —25
QDX ; @X ;X ; @O BO; ®O

(3)D 0.4 x 6 = 2.4(124})

@236+04=9-6+9=3 —6—-9=-15 ~BEE 35 —15
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HDO6x3=18(A%) @12+3=4 6+4=10
@18+3=6 10-6=4 10+6=16 - CE 1614

(5) —17—-6=-23 —17+6=—-11 ~A%EE 2358 11

p. 15737 BIfR%E 1

(DLD® (2 -3-2=-5 30 OB GBYD B1fH (N
(8) =4+ =3+ -2+ -1-0-1-2-3-4 =79

@O 10)0® (11)a=7-5=2 (12)|-5/+5=10

p. 159%F & R

(DO (—22)@ (—14)®5@ (—20)® (—10)® (—30)D(—28)

®(—13)® (—30)©0 (—6)@ (—60)@ 0

(2)®O(—33)@ (—6)@5@(—35)® 12® 0@ 10 ® 40 ® 13
22@9@®2

(3® (—27) @—80) @ 150 @ (—70) ® (—80) ® (—150) @ (—26)
®33@© 230 (—6)d (—20)1® 30
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